SPTIRS2IICHS18.04.06 2018.4.6 4:9PM HIO|X|64 001 7t& TEIE1 $

FLEXIBLE
CONVEYOR SYSTEM

WOOJIN AUTOVEYOR SYSTEM 66~67
FLEXIBLE CONVEYOR COMPOSITION 68~69
FLEXIBLE CONVEYOR SLIDE RAIL INSTALL 70~71
AUTOVEYOR LINK CHAIN 72~76
SPROCKET FOR AUTOVEYOR LINK CHAIN 77
AL FRAMES FOR AUTOVEYOR LINK CHAIN 78
AUTOVEYOR CARRY CHAIN 79~80
AUTOVEYOR CARRY SPLIT CHAIN 81~82
HP TYPE CHAIN CONVEYOR 83
AL FRAMES FOR AUTOVEYOR CARRY CHAIN 84
CHAIN FOR SIDE GRIP CONVEYOR 85
SIDE GRIP CHAIN CONVEYOR 86
FLEXIBLE CONVEYOR CHAIN WITH ROLLER 87
FLEXIBLE CONVEYOR NON-SLIP CHAIN 88
FLEXIBLE CONVEYOR SIDE GUIDES 89~91
FLEXIBLE CONVEYOR COMPONENTS 92~112

1} ME17] CONVEYOR / WHEEL BEND CONVEYOR 113~114
SIDE GRIP CONVEYOR / FLEXIBLE CONVEYOR X 2A}2| 115~116

—



NV~ WOOJIN

FLEXIBLE
CONVEYOR SYSTEM




SPTIRS2IICHS18.04.06 2018.4.6 4:9PM HIO|X|66 001 7tal EIE{1 E}

WOO]JIN AUTOVEYOR SYSTEM

66 WOO JIN



SPTIRS2IICHS18.04.06 2018.4.6 4:9PM HIO|X|67 001 7tak EIE{1 E}

www.woojinauto.co.kr 67

Flexible Conveyor System



1E1 $

=
—c

SPTIRS2FICHE18.04.06 2018.4.6 4:9PM HO|X|68 001 Jtad

FLEXIBLE CONVEYOR COMPOSITION

9 : Side guide section

F1~

A : Motor

D : Horizontal band

E : Main frame

F : Wheel bend

G : Tail parts

| : Leg support profile

C : Vertical bend
J : Foot base

B : Drive parts
H : Leg bracket

P82.6F P103F P82.6

P63.5F

P44.5F

68 WOO JIN



SPTIRS2FICHS18.04.06 2018.4.6 4:9PM HO|X[69 001 7taf ZIE1

wd)sAg 10/3Au0) 3)qIxa)4

P140CF

P103CF

P82.6CF

www.woojinauto.co.kr 69



21 E}

I

TIRS2EICHS18.04.06 2018.4.6 4:9PM HIO|X|70 001 7taf

o
T

FLEXIBLE CONVEYOR SLIDE RAIL INSTALL

70 WOO JIN



21 E}

py

TIRS 2 FCHS18.04.06 2018.4.6 4:9PM HO|X[71 001 7tH&f

o
T

wd)sAg 10/3Au0) 3)qIxa)4

£——

(=X

J—

\

- 3,000mMmm

www.woojinauto.co.kr 71



SPTIRS2FICHE18.04.09 2018.4.911:4 2AM HIO|X[|72 001 7t&F ZRIEN E}

gt 7
" A
A
.
oj
L m
- Al
+EI ------- L
____________ I
PLATE WORKING SIDEFLEX
CHAIN TYPE CODE.NO MATERIAL WIDTH(K) LOAD(MAX)  RADIUS(MIN) WEIGHT
PLATE PIN MM INCH N R kg/M
P44.5F 6001 caniess 445 1.75 0.68
P63.5F 1245  ACETAL"'sree 3.5 2.50 2000 150 0.76

% Standard length : P44.5F : 3.048m(120links)
P63.5F : 3.048m(120links)

72 WOO JIN



SPTIRS2FICHE18.04.09 2018.4.9 11:4 2AM HIO|X|73 001 7t&F =RIEN E}

AUTOVEYOR LINK CHAIN
: ._JJ_ |
e
e
o
Pl r. -
-y
- “ 1
-
o
N, ‘ o
e’ 4
o
PLATE
CHAIN TYPE CODE.NO  MATERIAL WIDTH(K)
PLATE PIN MM  INCH
P82 .6F 1246 82.6 3.25
P103F 1047 ACETALTGE™ 1030 4.05

% Standard length : P82.6F : 3.015m(90links)
P103F : 3.017m(85links)

‘ﬁ‘ !Il :I*____II ||| 1l |"||| III III |I|"| I 1l 1l
. [ ]

=l
Al o o AN | gj i_gi

- I

LOADMAX)  RADIUS(N) WEIGHT
N R kg/M
3000 160 117
4000 200 1.65

www.woojinauto.co.kr 73

Flexible Conveyor System



SPTIRS2FICHE18.04.06 2018.4.6 4:9PM HO|X[74 001 Jtah ZRIEN $

AUTOVEYOR LINK CHAIN - High Performance

HP TYPES| A& PROS OF HP TYPE
IMES YR SE At oM E| Ao H|sH OtZMH S 40% 24, High-performance internal lubrication, reduces wear property
LFAHEECII|R e N2 g by 40% over regular acetal materials.

Significantly low wear over LF materials
Reduced wear under dry operation conditions, suited for high-speed operation

o

AT AE 28 A 0IRZA, D4 2T ASA X

adl

E
R o 1 '——r
pE

e

- T

ke

____________ L

PLATE WORKING  SIDEFLEX

CHAIN TYPE CODE.NO MATERIAL WIDTH(K) LOAD(MAX)  RADIUS(MIN) WEIGHT
PLATE PIN MM  INCH N R kg/M
P44.5F-HP  6001-HP coamiess 445 1.75 0.68
P63.5F—HP  1245-HP ACETAL “'sreel 63.5 2,50 2000 150 0.76

¥ Standard length : P44.5F-HP : 3.048m(120links)
P63.5F-HP : 3.048m(120links)

74 WOO JIN



SPTIRS2FICHE18.04.06 2018.4.6 4:9PM HO|X[75 001 7t Z2IE1 E}

AUTOVEYOR LINK CHAIN - FLIGHT TYPE

:_______6_3-_5_ _____ _:
| |
e
sl
%
- a1 2
BTl [T T F——
:l wgr’-‘ _______;]_ zi
NS Tl
».-‘.r ‘$l- -
v -
PLATE WORKING SIDEFLEX
CHAIN TYPE CODE.NO MATERIAL WIDTH(K) LOAD(MAX)  RADIUS(MIN) WEIGHT
PLATE PIN MM INCH N R kg/M
P63.5F-FL  1245-FL  _ sraness 63.5  2.50 2000 150 0.90
P82.6F—FL 1246-FL STEEL  82.6 3.25 3000 160 1.32

% Standard length : P63.5F-FL : 3.048m(120links)
P82.6F-FL : 3.015m(90links)

www.woojinauto.co.kr 75

Flexible Conveyor System



SPTIRS2FICHE18.04.09 2018.4.911:43AM HIO|X|76 001 7t&F ZRIEN E}

AUTOVEYOR LINK CHAIN(FLIGHT TYPE)

e e
] | ] | ®
:l:_ua&lfg?l.u_u.u_ﬂ \T|T ooi-
Ml Lol
A= il
; o — @f
4 —t
D = S s e 1 = )
O| m:
e N o L&l
_____________ L
PLATE WORKING SIDEFLEX
CHAIN TYPE CODE.NO MATERIAL WIDTH(K) LOAD(MAX)  RADIUS(MIN) WEIGHT
PLATE PIN MM INCH N R kg/M
P63.5F-TRI-FL 1245-TRI-FL stamiess 63.5  2.50 2000 150 0.90
P82.6F-TRI-FL 1246-TRI-FL ACETAL “gree™ g2 6  3.25 3000 160 1.32

% Standard length : P63.5F-TRI-FL : 3.048m(120links)
P82.6F-TRI-FL : 3.015m(90links)

76 WOO JIN



SPTIRS2IICHS18.04.06 2018.4.6 4:9PM HIO|X|77 001 7tat EIE1 E}

SPROCKET FOR AUTOVEYOR LINK CHAIN

P.C.D98.1
@©
™ S
)
= )
o
@25,30,35 34
TYPE 12T SPROCKET FOR P44.5F Material : mono cast nylon
CODE.NO 6002
P.C.D@98.1
©
™ S
)
] o
o
225,30,35 38
TYPE 12T SPROCKET FOR P63.5F Material : mono cast nylon
CODE.NO 6003
P.C.D@113.6
N~
8
a
o
@25,30,35 62
TYPE 21T SPROCKET FOR P82.6F Material : mono cast nylon
CODE.NO 6004
P.C.D@109.3
©
T <
)
N/ a
o
VS L |
@25,30,35 77
TYPE 19T SPROCKET FOR P103F Material : mono cast nylon

CODE.NO 6005
www.woojinauto.co.kr 77

—

Flexible Conveyor System



SPTIRS2IICHS18.04.06 2018.4.6 4:9PM HIO|X|78 001 7ta&t EIE{1 E}

AL FRAMES FOR AUTOVEYOR LINK CHAIN

i

-

TYPE
CODE.NO

‘i‘

AL FRAME FOR P44.5F
6006

.
[ ] G
= 3

Material : aluminum
¥ Standard length : 4m

TYPE
CODE.NO

L]

TYPE
CODE.NO

AL FRAME FOR P63.5F
6007

AL FRAME FOR P82.6F
6008

TYPE
CODE.NO

78 WOO JIN

AL FRAME FOR P103F
6009

65

™

!

|

Material : aluminum
¥ Standard length @ 4m

85

2

1

Material : aluminum
¥ Standard length : 3m

105

I

=
il |

.

o

3
T
o
L

Material : aluminum
¥ Standard length : 3m

—



SPTIRS2FICHE18.04.06 2018.4.6 4:9PM HO|X[79 001 7taf Z2IE E}

AUTOVEYOR CARRY CHAIN
~
PLATE
CHAIN TYPE CODE.NO MATERIAL WIDTH(K)
PLATE PIN MM  INCH
P82.6CF 1248 826 3.25
P103CF 1249  ACETAL STANESS 1030 4.05
P140CF 1250 140.0 5.51

¥ Standard length : P82.6CF : 3.048m(80links)
P103CF : 3.048m(80links)
P140CF : 3.048m(80links)

WORKING SIDEFLEX

LOAD(MAX)  RADIUS(MIN) WEIGHT
N R kg/M
3000 160 1.28
3000 200 1.38
3000 250 1.50

www.woojinauto.co.kr 79

Flexible Conveyor System



SPTIRS2FICHE18.04.09 2018.4.9 11:4 3AM HIO|X|80 001 7tad =RIEN E}

AUTOVEYOR CARRY CHAIN - High Performance

HP TYPES| &HA PROS OF HP TYPE

D59 E a2 At oM ER Ao HIsH Ot2M S 40% 24, High-performance internal lubrication, reduces wear property
LFAZECI R Y2 02 8. by 40% over regular acetal materials.

AXSH AN S8 Al OI2ZA T2 28 AFRA| ®et Significantly low wear over LF materials

Reduced wear under dry operation conditions, suited for high-speed operation

38.1

<
>
.

PLATE WORKING SIDEFLEX

CHAIN TYPE CODE.NO BIAlEIAS WIDTH(K) LOAD(MAX)  RADIUS(MIN) el
PLATE PIN MM INCH N R kg/M
P82.6CF-HP 1248-HP 2.6 3.25 3000 160 1.28
P103CF-HP  1249-HP ACETAL S'AMESS 4103 0 4.05 3000 200 1.38
P140CF-HP  1250-HP 40.0 5.51 3000 250 1.50

¥ Standard length : P82.6CF-HP : 3.048m(80links)
P103CF-HP : 3.048m(80links)
P140CF-HP : 3.048m(80links)

80 WOO JIN



STIRS2FICHE18.04.06 2018.4.6 4:9PM HO|X[81 001 Jtaf Z2IE1 E}

AUTOVEYOR CARRY SPLIT CHAIN

1
N
.
N
.
\
PLATE
MATERIAL
CHAIN TYPE CODE.NO WIDTH(K)
PLATE PIN MM INCH
P82.6CF-S  1248-S 82.6 3.25
P103CF-S  1249-S  ACETAL STeNESS 103.0  4.05
P140CF-S  1250-S 140.0 5.51

¥ Standard length : P82.6CF-S : 3.048m(80links)
P103CF-S : 3.048m(80links)
P140CF-S : 3.048m(80links)

WORKING SIDEFLEX
LOAD(MAX)  RADIUS(MIN) WEIGHT
N R kg/M
160 1.30
4000 200 1.53
250 1.73

www.woojinauto.co.kr 81

Flexible Conveyor System



SPTIRS2FICHE18.04.06 2018.4.6 4:9PM HO|X[82 001 7taf =ZZIE1 E}

AUTOVEYOR CARRY SPLIT CHAIN -

High Performance
HY TYPES| &&

DEso T2, LUt Oty Zof Hish Dt2Y S 40% 2.
LFHE2CH e R2 Ol2 8.
X YE) 28 Al Dt2ZA, 14 20 AFZA B,
ﬁ ,‘L ’
-
i " ) 4
’
-
PLATE
MATERIAL
CHAIN TYPE CODE.NO WIDTH(K)
PLATE PIN MM  INCH
P82.6CF-S-HP 1248-S-HP 82.6 3.25
P103CF-S-HP  1249-S-HP ACETAL °'¢itf®® 103.0  4.05
140.0 5.51

P140CF-S-HP  1250-S-HP

¥ Standard length : P82.6CF-S-HP : 3.048m(80links)
P103CF-S-HP : 3.048m(80links)

P140CF-S-HP : 3.048m(80links)
82 WOO]JIN

WORKING
LOAD(MAX)

N

4000

SIDEFLEX
RADIUS(MIN)

R

160
200
250

WEIGHT
kg/M

1.30
1.53
1.73



SEIXISBIFICHE18.04.06 2018.4.6 4:10PM HOIXI83 001 ZHAt EEE‘IL&E*

HP TYPE CHAIN CONVEYOR

www.woojinauto.co.kr 83

Flexible Conveyor System



STIRISHIFICIS18.04.06 2018.4.6 4:10PM HOIXI84 001 JHAF TRIE1 $

AL FRAMES FOR AUTOVEYOR CARRY CHAIN

e

L

TYPE AL FRAME FOR P82.6CF Material : aluminum
CODE.NO 6011 ¥ Standard length : 4m

79

75

 _

TYPE AL FRAME FOR P103CF Material : aluminum
CODE.NO 6012 ¥ Standard length : 4m

143

y
=

TYPE AL FRAME FOR P140CF Material : aluminum
CODE.NO 6013 ¥ Standard length : 4m
84 WOOJIN



SPTIRS2FICHE18.04.06 2018.4.6 4:10PM H|O|XI85 001 7H& ZEIE{1 E}

CHAIN FOR SIDE GRIP CONVEYOR SIDEFLEX RUN

n . §§~ ) H: 8mm
0% S

82.6

CODE.NO TYPE — - -
6017 BRUSH TYPE 8MM ¥ Standard length : 3.048m(80links)
o H:32mm
pr S ﬂ
] wl [ )
D 9 [INANZER]
= il [ il
50
CODE.NO TYPE 38.1 38.1 63 |
6018 BRUSH TYPE 32MM % Standard length : 3.048m(80links)
© H:21mm
{f {y -
. D 0] e
A H 5 JJ & [INZEEI
T T2 T ]
CODE.NO TYPE 301 | 38 —
6019 JOW TYPE 21 MM ¥ Standard length : 3.048m(80links)

www.woojinauto.co.kr 85

Flexible Conveyor System



SPTIRS2IICHS18.04.06 2018.4.6 4:10PM H[O|X[86 001 JHa Z2IE1 E}

SIDE GRIP CHAIN CONVEYOR SIDEFLEX RUN

W

-
i
IS
A

i

4l

86 WOO JIN



STIRS2FICHE18.04.09 2018.4.9 11:4 4 AM H|O|XI87 001 7t& ZEIE1 E}

FLEXIBLE CONVEYOR CHAIN WITH ROLLER

AUTOVEYOR LINK CHAIN WITH ROLLER

SIDEFLEX RUN

‘®

26
34.8

==(

SIS

AUTOVEYOR CARRY SPLIT CHAIN WITH ROLLER

38.1, 38.1

\rF.
< 1e!!

Y o
: P
\ i f
PLATE WORKING
MATERIAL
CHAIN TYPE CODE.NO WIDTH(K) ~ LOAD(MAX)
PLATE PIN MM  INCH N
P63.5F-RL  1245-RL ... STAMLESS 63.5 2.50 2000
P140CF-S-RL 1250-S—-RL STEEL 140.0 5.51 4000

¥ Standard length : P63.5F-RL : 3.048m(120links)
P140CF-S-RL : 3.048m(80links)

SIDEFLEX
RADIUS(MIN) WIEIEIRIT
R kg/M
150 1.18
250 2.68

www.woojinauto.co.kr 87

Flexible Conveyor System



STIRS2FICHE18.04.09 2018.4.9 11:4 4 AM H|O|XI88 001 7+& ZEIE1 E}

FLEXIBLE CONVEYOR NON-SLIP CHAIN

AUTOVEYOR CARRY CHAIN NON-SLIP CHAIN

CODE.NO TYPE
1248-NS P82.6CF-NON SLIP
% Standard length : P82.6CF-NON SLIP : 3.048m(80links)

CODE.NO TYPE
1250-NS P140CF-NON SLIP

¥ Standard length : P140CF-NON SLIP : 3.048m(80links)

AUTOVEYOR CARRY SPLIT NON-SLIP CHAIN

CODE.NO TYPE

1248-S-NS P82.6CF-S-NON SLIP
% Standard length : P82.6CF-S-NON SLIP : 3.048m(80links)

&

CODE.NO TYPE

1250-S-NS P140CF-S-NON SLIP
% Standard length : P140CF-S-NON SLIP : 3.048m(80links)

88 WOO JIN




SPTXSZIICIF18.04.06 2018.4.6 4:10PM HIO|XI89 001 7t& ZEIE1 E}

FLEXIBLE CONVEYOR SIDE GUIDES

*Section F—4x*

20X35
AL GUIDE, PE GUIDE
G CLAMP
COMPONENTS CODE
C CLAMP
AL 20 GUIDE 6048
20X17 END CAP
H:E PE 35 GUIDE 6049
G CLAMP 6072
C CLAMP 6073
J CLAMP
T-BOLT (M8) J CLAMP 6074

20X17 END CAP 6075

20X17 AL BAR 6076
T-BOLT (M8) 6077

*Section F—5*

PROFILE GUIDE
AL25W, PE31W

G-T CLAMP

,—— 20X17 AL BAR
= l? [:.E N / C CLAMP Section F-5
l Eiz ifh I_'=I'_ [ :i jq -
(HiHH == | HIH COMPONENTS CODE
20X17 END CAP
| m | Enll AL25W 1990
PE3IW 1991
J CLAMP
G-T CLAMP 6078
T-BOLT (M8)
C CLAMP 6073
i J CLAMP 6074
— 20X17 END CAP 6075
g 20X17 AL BAR 6076

T-BOLT (M8) 6077

www.woojinauto.co.kr 89



SPTXSZIICIF18.04.06 2018.4.6 4:10PM HIO|X[90 001 7t& ZEIE1 E}

FLEXIBLE CONVEYOR SIDE GUIDES

*Section F—8*

a
q

*Section F—9*

==

Z-JOINT
PROFILE GUIDE
AL25W, PE31W CAP NUT(M8)
.Jf%L
H L\
Il
|
|
|

20X35 SIDE GUIDE
'AL20 , PE35'
SIDE GUIDE CLAMP BAR

'STS-2'

/— GUIDE BRACKET

'ST-190'

SEMS SOCKET BOLT(M8)
5TX19X19(M8)

A E

T BOLT(M8)
CAP NUT(M86)

TUD BOLT
(M8)

/ WASHER

1= DY

g
|
|
|
|
|
!
|

24

;
L

~~——END CAP

=

—

E

90 WOO JIN

(40X40)
WJ 40X40

5TX19X19(M8)
INENE]S

Section F-8

COMPONENTS

AL 20 GUIDE

PE 35 GUIDE
STS-2

ST-190

SEMS SOCKET
BOLT(M8)

5TX19X19 (M8)

190

N

93

CODE
6048
6049
6051

6052
6061
6083

126

i

—
—p
18

9)

GUIDE BRACKET
ST-190

Section F-9

COMPONENTS
AL25W
PE3TW

T BOLT(M®6)
CAP NUT(M86)
Z—JOINT
CAP NUT(M8)
WJ 40X40
5TX19X19 (M8)
STUD BOLT(M8)
WASHER
END CAP(40X40)

CODE
1990
1991

6064
6067
6071

6068
6057
6083
6085
6084
6086



SPTIXSIICIF18.04.06 2018.4.6 4:10PM HIOIX[91 001 7+& Z2IE{1 $

FLEXIBLE CONVEYOR SIDE GUIDES

*Section F—7*

AL LAV Section F-7
PROFILE GUIDE
AL37W(AL52W),PESOW (PE6OW) [ SWIVEL BRACKET HEAD
qﬁj Sy ReuD B COMPONENTS ~ CODE
=B ] PROFILE GUIDE
i = :ﬁél T SPACER-1 PROFILE GUIDE
) | u y 4 sPACERS PE5OW(60W) 1 935(1 937)
LE.Jﬁ WASHER AL CLAMP 1938
@ﬁ = op e SWIVEL BRACKET
] M = (M8) 1933-1
T8y W Y ELBDCE\S(LIOQAEOJ HEAD
ROUND BAR @12 6088
WJ 40X40
SPACER-1 1933-2

SPACER-2 1933-3

WASHER 6084
CAP NUT(M8) 6068
STUD BOLT(M8) 6085
END CAP(40X40) 6086

WJ 40X40 6057

*Section F-7(2)*

STANDARD SIDE GUIDE
S-ADJUSTABLE CLAMP

Section F=7(2)

1 [ | q}? SWIVEL BRACKET HEAD
)y COMPONENTS CODE
puxy
a3 [ ] =0 STANDARD SIDE 1946
to 1 & GUIDE 20X20
WL ]| }={ rl_.._l1|/— SPACER-1 S-ADJUSTABLE 1947
H f } = = CLAMP
%% o b SIPRACER-E SWIVEL BRACKET
H WASHER 1933-1
LEM CAP NUT(M8) HEAD
I":,‘EEDEE Sr—————— STUD BOLT(M8) SPACER-1 1933-2
% ==b END CAP(40X40) SPACER—Z 1 9 33 _ 3
WJ 40X40
WASHER 6084
CAP NUT(M8) 6068
i 1 STUD BOLT(M8) 6085
” END CAP(40X40) 6086

WJ 40X40 6057

www.woojinauto.co.kr 91

Flexible Conveyor System



PTIXSSIICHS18.04.06 2018.4.6 4:10PM H|0|X[92 001 Jtaf ZEIE1 $

FLEXIBLE CONVEYOR COMPONENTS

DRIVE / TAIL PARTS
-FOR P44.5F

\DJ _________ @
CODE.NO TYPE °

6032 D-P44.5F

ﬁ% C 00 L350 100,
' | — ' |

e S N 5o W
CODE.NO TYPE O

6032-MID D-MID-P44.5F

&y [T _TT | : :
W15 200
__JI_____I |
N_[ | !
31' oo

CODE.NO TYPE
6043 T-P44.5F

92 WOO JIN




SPTIRS2IICHS18.04.06 2018.4.6 4:10PM H[O|X[93 001 7+ Z2IE1 E}

FLEXIBLE CONVEYOR COMPONENTS

DRIVE / TAIL PARTS
-FOR P63.5F

(gl — ill l
2| 11 [T T
00, 213
|
| |
~ " eomnnonws !
g s o l® O © /o _ N\
CODE.NO TYPE - o O
6033 D-P63.5F
9 T TI—TIL__ 1
00 350 00
N-'__J ; oom: I
éj o o @ O © .-(é © © | o o
CODE.NO TYPE N ‘O %
6033-MID D-MID-P63.5F
o i i N
ol [T 11 [
4 t | ]
75 200
| |
| |
o~ ST “Wbous suTovavoR !
3 =)
CODE.NO TYPE
6044 T-P63.5F

www.woojinauto.co.kr 93

Flexible Conveyor System



SPTIXSSIICHS18.04.06 2018.4.6 4:10PM 0| X[94 001 Jtal ZEIE] E}

FLEXIBLE CONVEYOR COMPONENTS
DRIVE / TAIL PARTS

-FOR P82.6F

N

CODE.NO
6034-F

TYPE
D-P82.6F

. .
I
i
|
] %
1| { }
oy, cH i ] il i
y i ! }
N _ 90 S 450 —
1 ' j
ﬁj o o | @ o © o o © o ©
CODE.NO veE W
6034-F-MID D-MID-P82.6F

CODE.NO
6045-F

94 WOO JIN

TYPE
T-P82.6F

________ [] [ —L
80 35 .

N |
=] © ® |

———————— © ®




SPTIRS2IICHS18.04.06 2018.4.6 4:10PM H[O|X[95 001 7+ Z2IE1 E}

FLEXIBLE CONVEYOR COMPONENTS

DRIVE / TAIL PARTS
-FOR P82.6CF

L

'[__'V'
el © © © © © o o \I
~I

CODE.NO TYPE ISR @

6034 D-P82.6CF

86

S e — -
N |

4
© o o ©
CODE.NO TYPE OOO
6034-MID D-MID-P82.6CF
T [ 1 ]
\DI
| -
A T 1 ]
L9 300 _____ -

CODE.NO TYPE
6045 T-P82.6CF

www.woojinauto.co.kr 95

Flexible Conveyor System



SPTIRS2IICHS18.04.06 2018.4.6 4:10PM H[O|X[96 001 7+ Z2IE1 E}

FLEXIBLE CONVEYOR COMPONENTS

DRIVE / TAIL PARTS

-FOR P103CF
T
=
N

CODE.NO TYPE
6035 D-P103CF

_ 15
©
©

® ©

e o
ooo

lﬁ% MO S
_'__T _____ I I i

ﬁl °c o |® © ©
B
CODE.NO TYPE © o} ©
6035-MID D-MID-P103CF °°
— ]
T — —
t___9_0_ i 300 i
| |
AT |
w [ ]® © ©
l\-l ________ @ @
CODE.NO TYPE
6046 T-P103CF
96 WOO JIN



SPTIRS2FICHE18.04.06 2018.4.6 4:10PM H|O| K97 001 7H& ZEIE{1 E}

FLEXIBLE CONVEYOR COMPONENTS
DRIVE / TAIL PARTS

-FOR P140CF

CODE.NO
6036

CODE.NO
6036-MID

CODE.NO
6047

TYPE
D-P140CF

TYPE
D-MID-P140CF

TYPE
T-P140CF

:Inl oo |:|||'|||:
3 e
:|| T |||:||I||I
et
! |
|
w0 s ]o o0 O o_o\
B w
-
________ | )
Va)
3 i b
:|| I 1 ||:
90 | 400 .90
l l
W Eo]o o o o o[m =
_________ O o o O
000
T -~ |n| |n| |n I|ﬂ'| :
i I —
!
2 ]
! { I —
! i |w| |w| |“ 'I..,'I :
S0 30
P DR - |
P !
g: [0 [} o i
4 _ o Q

www.woojinauto.co.kr 97

Flexible Conveyor System



SPTIRS2IICHS18.04.06 2018.4.6 4:10PM H[O|X[98 001 7+ Z2IE1 $

FLEXIBLE CONVEYOR COMPONENTS

GUIDE BRACKET-1

CODE.NO

2201

CODE.NO

2202

CODE.NO

98 WOO JIN

2203

-

90.5

|

17
(=

95

13

[

57

83.2

30

30

#) -

T
__b

1k

Y




STIRS2FICHE18.04.06 2018.4.6 4:10PM H|O| X199 001 7H& ZEIE1 E}

FLEXIBLE CONVEYOR COMPONENTS
GUIDE BRACKET-2

CODE.NO TYPE
2204 F-4-L-H

CODE.NO TYPE
2205 F-5-L-H

.'— |
ac
il
CODE.NO TYPE f

2206 F-6-L1-L2-H

§

www.woojinauto.co.kr 99

Flexible Conveyor System



SPTIRS2IICHS18.04.06 2018.4.6 4:10PM H[O|X[100 001 7+& =EIE1 E}

FLEXIBLE CONVEYOR COMPONENTS
GUIDE BRACKET-3

517\l
@ =
IANgZil!

/--SPCAER—I
/0
/@

40
|
:
I
|
L
20

) b ‘__SPACER-2
CODE.NO TYPE
2207 F-7-L-S1-S2

CODE.NO TYPE
2208 F-8

CODE.NO TYPE L
2209 F-9-L-H

100 WOOJIN



STIRS2FICHE18.04.06 2018.4.6 4:10PM H|O|X[101 001 7taf Z2IEN E}

FLEXIBLE CONVEYOR COMPONENTS
SIDE GUIDE-1

ULF SIDE GUIDE

Material : Aluminum,

15,5 7 UHMW-PE
i‘ “““ ‘i Standard(L) : AL 4m
- PE 50m
il
m\l S
\ @ @
) ___L

. TYPE CODE
AL-S-15.5 6201
G-5S-17.5 6202

11,5

PROFILE GUIDE

10 :__1_0__: Material : Aluminum,
| _— HDPE
_d_.___.- ! Standard(L) : AL 3m
i ! PE 3m
|
« i
> l :
! |
_r|_____i_ i TYPE CODE
b AL25 1990
PE31 1991
20x35 SIDE GUIDE

Material : Aluminum,

—- HDPE
B __
| | Standard(L) : AL 4m
] PE 50m
|
ol
N
|
|
-+ TYPE CODE
] AL20 6048

PE35 6049

35

WD PROFILE GUIDE

L""—E i_"J: Material : Aluminum,
I L'_ HOPE
1T Standard(L) : AL 4m
PE 4m
o )
m ()
m
TYPE CODE
Lt |_|_ AL30 6301
REB5YS 6302

www.woojinauto.co.kr 101

Flexible Conveyor System



SPTIRS2IICHS18.04.06 2018.4.6 4:10PM H[O|X[102 001 7+& ZEIE1 $

FLEXIBLE CONVEYOR COMPONENTS
SIDE GUIDE-2

PROFILE GUIDE

Material : Aluminum,

1
" [ HDPE
T ] Standard(L) : AL 2.5m
] T \_r PE 2.5m
|
I
I
|
|
. __L
TYPE CODE
AL37 1934
PE50 1935
PROFILE GUIDE
12 Material : Aluminum,
Lo I HDPE
! ' ' Standard(L) : AL 2.5m
| |_T PE 2.5m
i
I
|
|
1 |_L TYPE CODE
AL52 1936
PE6O 1937
o PROFILE GUIDE
i Material : Aluminum,
| ) HOPE
o l Standard(L) : AL 2.5m
] PE 2.5m
i
|
I
) __
:\ TYPE CODE
) AL37 1934
4L BD8O 1994

102 WOO]JIN



SPTIAS2FICHE18.04.06 2018.4.6 4:10PM H|O| X103 001 7tad ZEIEN E}

FLEXIBLE CONVEYOR COMPONENTS

-MOTOR FLANGE-

TYPE : "MOTOVARIO"
0.2kW Motor Flange

- NMRV040

Material @ Aluminum

CODE 6037
TYPE : "MOTOVARIO"
0.4kW Motor Flange

- NMRV050

Flexible Conveyor System

Material @ Aluminum
CODE 6038

TYPE : "MOTOVARIO"
0.75kW Motor Flange

- NMRV063

Material : Aluminum

CODE 6039

TYPE : "BONFIGLIOLI"
0.18kW Motor Flange

- VF44

Material : Aluminum

CODE 6040
TYPE : "BONFIGLIOLI"
0.37kW Motor Flange
- VF49

Material : Aluminum

CODE 6041
TYPE : "BONFIGLIOLI"
0.75kW Motor Flange
- W63

MATERIAL : ALUMINUM

CODE 6042

www.woojinauto.co.kr 103



SPTIRS2FICHS18.04.06 2018.4.6 4:10PM H|O| X104 001 Jtad =RIEN E}

FLEXIBLE CONVEYOR COMPONENTS
- WHEEL BEND -

104 WOO]JIN

CODE

6020

6021

6022

6023

TYPE

P63.5F

P82.6CF

P103CF

P140CF

0%

R150

R160

R200

R250

Material: UHMW-PE, Aluminum

180

R150

R160

R200

R250



STIAS2FICHE18.04.06 2018.4.6 4:10PM H|O| X105 001 7tad ZEIEN E}

FLEXIBLE CONVEYOR COMPONENTS

- HORIZONTAL BEND -
200
(04
o
TYPE CODE.NO A°
P44 5F 6090 15,30,90 ~ 180
P63.5F 6024 15,30,90 ~ 180
P82.6CF 6025 15,30,90 ~ 180
P103CF 6026 15,30,90 ~ 180
P140CF 6027 15,30,90 ~ 180
- VERTICAL BEND -
AO
80 g
O—o—0
—2-M8 TAP DP:20 R
TYPE CODE.NO A°

P44 5F 6091 10,15,20,30 ~ 90
P63.5F 6028 10,15,20,30 ~ 90
P82.6CF 6029 10,15,20,30 ~ 90
P103CF 6030 1015,20,30 ~ 90
P140CF 6031 10,15,20,30 ~ 90

Wy

Flexible Conveyor System

|

R
400,500,600,700,800,900,1000~
400,500,600,700,800,900,1000~
400,500,600,700,800,900,1000~
400,500,600,700,800,900,1000~
400,500,600,700,800,900,1000~

R
300,400,500,600,700,800
300,400,500,600,700,800
300,400,500,600,700,800
300,400,500,600,700,800
300,400,500,600,700,800

www.woojinauto.co.kr 105



SPTIAS2FICHE18.04.06 2018.4.6 4:10PM H|O| X106 001 7tad ZEIEN E;

FLEXIBLE CONVEYOR COMPONENTS

PIN INSERT GUN
- FOR P44.5F, P63.5F, P82.6F

TYPE CODE
PISL-110 2103

INSERT % P

|
|
i
|
|
|
Stroke 110mm

REMOVE

106 WOOJIN




SPTIRS2FICHE18.04.06 2018.4.6 4:10PM H|O| X107 001 7tad ZEIEN E}

FLEXIBLE CONVEYOR COMPONENTS
- CHAIN SLIDE GUIDES -

"
Tl

TYPE FOR AL FRAME P44.5F
CODE.NO 6014

Flexible Conveyor System

(S

N
)

Material - UHMW~PE
¥ Standard length : 50m

FOR AL FRAME P63.5F
FOR AL FRAME P82.6F
FOR AL FRAME P103F

VA FOR AL FRAME P82.6CF
FOR AL FRAME P103CF
FOR AL FRAME P140CF
CODE.NO 6015
Material : UHMW-PE
¥ Standard length : 50m
- JOINT BAR FOR AL FRAME -
= e ‘ 150
L h
i i
o © o o o9
T [ ]
AL 5-M8 SET SCREW
I Al LT 11 | T

TYPE JOINT BAR(FOR ALL FRAMES)
CODE.NO 6016
Material : STEEL

www.woojinauto.co.kr 107

—



SPTIXSIICIF18.04.06 2018.4.6 4:10PM HIO|X[108 001 7t&F Z2IE{1 E}

FLEXIBLE CONVEYOR COMPONENTS
- LEG SUPPORT PARTS -

P 248
PCD 213

162

Material : ALLUMINUM
Color : GRAY

TYPE CODE
FB80X80 6059

2186
PCD 8160

40
[ G

120
S

S~ Material : STEEL
WODIIN Color : GRAY
- — TYPE CODE

FB60X60 6060
108 WOO]JIN



SPTIAS2FICHE18.04.06 2018.4.6 4:10PM H|O| X109 001 7tad ZEIEN E;

FLEXIBLE CONVEYOR COMPONENTS

1
=)
o D
(ap
(&
D N
PE AL
% STANDARD LENGTH: AL 4m /PE 50m
2-M6 TAP A
¢ o
\|J/ (qV
<
60
— g 120
S & 8
T8 F z
N~ H —|
—— 3 (W~
3 | -
.30 |
12 N
3 ME
|
7 0
93 9 é

20x35 SIDE GUIDE

Material : Aluminum,

Polyetylene
Standard(L) :AL 4m £
PE 50m ;%
TYPE CODE s
AL 20 6048 §
PE 35 6049 2
3

AL GUIDE HOLDER
(FOR 20X35 SIDE GUIDE)

Material : Aluminum

TYPE CODE
28X60 HOLDER 6050

SIDE GUIDE CLAMP BAR

Material : Stainless Steel,
Aluminum

TYPE CODE
STS-2 6051

GUIDE BRACKET

Material : Stainless Steel

TYPE CODE
ST—-190 60562

www.woojinauto.co.kr 109



SPTIRS2FICHE18.04.09 2018.4.9 11:4 4 AM HIOIX[110 001 7tH& ZEIE1 an

FLEXIBLE CONVEYOR COMPONENTS

40 38 LEG BRACKET
(P103F)
© © —
3 7'.'7‘ Material : Aluminum
fw (P
i e N TYPE CODE
& ' P103CF 6053
' J o L
]
78 505

40 LEG BRACKET
(P635F,P826CF,P140CF)

Material : Aluminum

TYPE A CODE

P63.5F 30 6054
4-8105 P82.6CF 40 6055
|

153
126.4

o P140CF 40 6056

78 43

WJ PROFILE 40X40

Material : Aluminum
Standard(L) : 4m

40

~ TYPE CODE
WJ 40X40 6057
WJ PROFILE 80X80
80
Material : Aluminum
Standard(L) : 4m
EN ?rig’ e
R | SR\
& C j TYPE  CODE
F\“NL Jr‘/? WJ 80X80 6058
EARSEARS

110 WOOJIN



STIRS2FICHE18.04.06 2018.4.6 4:10PM H|O|X[111 001 Jtad ZRIEN E}

FLEXIBLE CONVEYOR COMPONENTS

SEMS SOCKET BOLT(M8)

; % E====1 Material : STEEL
- = (nickel—plated)

TYPE(L) CODE
M8—20L 6061
M8—18L 6062

T BOLT (M8)

Material :STEEL
(nickel—plated)

=
b

.{f ;\ i |
TYPE CODE
M8 6063
ﬂ T BOLT (M6)
Y J : J"| : ﬁ \]7‘[[ EW_‘D‘ Material : STEEL
’ r} . -~ (nickel—plated)
4 ,p’ ' ,r 9.5
R &
V4 TYPE CODE
M6 6064
S SPRING NUT (M8)
- D
e ?j‘ | A 13 Material : STEEL
'l ] Fu::"ih""‘" R (nickel—plated)
#
| - ] G
TYPE CODE
233 851 =2 M8 6065
SPRING NUT (M6)
= —— N a2
HL; f"’ A Material : STEEL
(o N ﬂ (nickel—plated)
-4
g [T {4
o~ aal = TYPE CODE

M6 6066

www.woojinauto.co.kr 111

Flexible Conveyor System



STIRS2FICHE18.04.06 2018.4.6 4:10PM H|O|X[112 001 7tad ZEIEN E}

FLEXIBLE CONVEYOR COMPONENTS

CAP NUTS(M6,M8)

. m F Material : STEEL
It L _-ﬂ'\‘ = — (nickel—plated)

q . 6 or M8
=T 3 F: : ﬁ_ﬁ
- ‘ R ’ TYPE CODE
J M6 6067
M8 6068
nlg N ANGLE JOINT
. =N @ } 3 (FOR WJ 40X40)
r — = Material : STEEL
- : (nickel—plated)
= = M8 TAP
N T R TVPE CODE
435 ANGLE JOINT-20 6069

ANGLE JOINT
4-M8 TAP —
4 i é
nﬁl = Material : STEEL
< o | (nickel—plated)
- ‘f - ;"' ) L @
w * - |
R s N —— 5
= TYPE CODE
58 13.8 ANGLE JONT-14 6070
20 30 /Z—JOINT

Material : STEEL
(nickel—plated)

o
“\
.
1]

' )
>
i

62.5

\:
b

:
N

TYPE CODE
Z—JOINT-20 6071

_.
©
loo
o |

112 WOOJIN



SPTIRS2IICHS18.04.06 2018.4.6 4:11 PMH|O| X113 001 7t Z2IE an

AU MET| CONVEYOR

L

www.woojinauto.co.kr 113

Flexible Conveyor System



SPTIRS2AIICHS18.04.06 2018.4.6 4:11 AMH[O|X[114 001 2t&F ZEIE1 an

WHEEL BEND CONVEYOR

AT EL TR Th

g L L]
AR LIS P T AT FF AR

114 WOOJIN



SPTIRS2IICHS18.04.06 2018.4.6 4:11 PMH|O| X115 001 7taf Z2IE { )

SIDE GRIP CONVEYOR

Flexible Conveyor System

www.woojinauto.co.kr 115



SRS HIIICIS18.04.06 2018.4.6 4:11 PMEHOIX[116 001 JHA¢ Eae%

FLEXIBLE CONVEYOR & Atz

116 WOOJIN



SPTIRS2IICHS18.04.06 2018.4.6 4:11 AMH|O|X[117 001 7t&d ZRIE1 $

Memo





